J0o0d0o0o0oooodooooogpPODFOOOOOO
Jo0oooooooood

https://www.100test.com/kao_ti2020/72/2021 2022 E9 81 BF E
585 8D E5 BF 99 E4 c45 72725htm 0 0000000 dd
Jododoboooooodobooouooouoooooa
Jododobooodoodooooooouoooooa
Jo0odoodd%uboooooooooooooo
Jo0odobodoooodoooooooooooooo
Jo0odooooooooooooooo@@Woooooa
Jo0o00odooododooooododnoasowdn)
J00odoodooooooooooooooooooo
DJo0o0oo@ooooboooooooooooooo
Jododoboboooodobooouoooooooooa
Jododoboooooodobooouooouoooooa
Joo@oboooobooooooooouooooo
Jo0odooooooodoooouoooooooooa
Joodo2uuooooooooooooooooood
J0odoboooooodoooooooooooooa
Jo0odoooooooooooo* oouoog” oo
OJo0odoooooooo@yoooooooooooo
J000o00o0oo0oodooooooooooooon
Jododoboboooodobooouoooooooooa
Jododoboooooodobooouooouoooooa
Jdodoboooooodooooboooooooon (
yoooodoooooooooooooooooooa
Jo0odoboooooodoooooooooooooa



00000000000000000000000000
00000000000000000000000000
00000000000000000000000000
00000000000000000000000000
00000000000000070000000000
01.000000000000000000000000
000000 000000001500 0000000000
01000 00000000500000000000000
000000000500000000500000000
000009000 00006000 00000000210
00000000000012000000000025000
00000060 000000000000000000
00000000000000000000000000
000000000000008% 00007000000
00s50000020000000080000000000
0000500000000000000000000170
0000000000080 00 00000000000
000000000000 000000033%00000
000000000010%0 000000000000
000 @O0O00000000000000000000
0 00000000000L0000000 (spiderd 00
000)()00D0 0000 =(100-5)+ 5=19(0 0)
CFAT0=-150(0 0 ) CFAT1-4=(90-60)x (1-33%) 19=39.1(0 O )
CFAT5=39.1550=94.1(0 0 ) NPV=-15039.1x (P/AD 10%0] 4)
94.1x (p/s,10%,5) =-15039.1x 3.1699 94.1x 0.6209 =32.37(0 O)
000 0O000=[120x (12x 8%)-8]+ 5=26.24(00)0 00



0 000 =25+ 5=5(0 0 ) CFAT0=-145(00 0 ) CFAT1=0
CFAT2=-65(0 0 ) CFAT3-6=(170-80-26.24-5-120x 8%

x (1-33%) 26.24 5 120x 8%=73.78(0 0 ) CFAT7=73.78 65
8=146.78(0 0 ) NPV=-145-65x (P/SO 10%[] 2) 73.78x (P/A

[ 10%0 4) x (P/SO 10%0 2)) 146.78 x (P/SOI 10%[0 7) =-145-65
x 0.9264 73.78x 3.1699x 0.8264 146.78x 0.5132=69.9(0 0) O O
000000000 (@O0D0000000=32.37+ (P/A

0 10%05)=8540 0)0 000000 0 =69.9+ (P/AD 10%
07)=1436(00)000000000000000000
O0002(spider0 0)00000000000ID00000
00020000 000000500000000000 75000
000000000000000000000000 00
0000000000 0000 010000 5% 1004000 O
7%4000 000 8% 0000 0-500 O 10% 0 0500 O 12%
000075000 14%7500 000 16% 000000000
0000000000000000000000000200
00000000000000000000000000
0000000009l 000N00NN2000000000
000010000000000000000100000
000000034%0 000@O000000000000
00000000000000 @O00000000000
0000 @G)OD00000000 @)000000000 0
000000000020000000 @spider0 0000
0)()OODDO0O0000D0 (5%)=100+ 20%=500(0 0 )0 O
00000000 ((7%)=400+ 20%=2000(0 0) 000000
0000 (10%)=50+ 5%=1000(0 0)0 000000



0 (14%)=750+ 75%=1000( O ) O O O 0O O O (0-5000
[1)=20%x% 5% 5%x 10% 75%x 14%=12% (1 0 OJ O [

[1 (500100000 [0 )=20%x% 7% 5%x 10% 75%x 14%=12.4% [ O [
(1 00 0O (1000200000 0 )=20%x 7% 5%x 12% 75%X% 16%=14% []
0000020000 O 0O O )=20%x 8% 5%x 12% 75%

X 16%=142% QU0 U00O00000O000 O0O00=(200-1)
+ 10=19.9(00 O ) =[9021-19.9]x (134%) 19.9 =52.306(1 1) (3)J
0000 O00=-20052.306% (P AL 12%(01 10) 1x (P S
[J 12%0 10) =-200 52.306x 5.6502 1x 0.3220 =95.86(1 (1) (4)0
Dod0dododoouboodoododn3.(spidera ) O
Jodododoooo@moyoo oo oo oo o
O 000200 ddd4ednn18oO00n 250
O003000070000009000000 65000
D000 3000000000 120090000 35000
Oe/000000 1920000 3200000000 3200
D00dooooooooooooooooonoooon
OD00dooooobooooooobo.obooooood
40000 0. 00001000 000000600000O0O0O300
OO00000000C0O00000Ogs000000 100Test O O
OO000ooooooboonooooobooon
www.100test.com



